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QUESTION ONE: Increase in the world price

Graph One shows the world price increasing for a product that New Zealand exports.

Graph One: The market for a New Zealand export product
- impact of an increase in world price

Price (8)
A

Pw, \B\ /C /SW]
Pw : ‘ ——Sw

Quantity

(a) (i) Complete Table One by using the labels in Graph One to identify the prices and quantities.

Table One
Before world After world
price increase price increase
Price NZ consumers pay Pw Pes?
Price NZ producers receive P Puw!
Quantity consumed by NZ consumers Qd Qd'
Quantity sold by NZ producers Qd Q4!

(i) Complete Table Two by using the labels in Graph One to identify the surpluses and
deadweight loss.

Table Two
Before world After world
price increase price increase
Consumer surplus Pw c A Pu' B A
Producer surplus Pu FE Po' &G E
Deadweight loss (if any) No DlvL No DWL
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(iii) Explain why the world price is a horizontal line.
The. world Pr*ice 1> & horizontal line because 1H1S the
Set price for each cLuanH}—:j ocross the world -

Refer to Graph One, Table One, and Table Two in your answer to part (b) below.

(b) Explain in detail the impacts the increase in the world price on a product that New Zealand
exports might have on the following:

New Zealand consumers

NZ consumer surplus will decreose as o result of an increase
in the world price. Consumer surplus will decreas e From area
PwlA to area Pw' BA after, as the Pra'af: INcreases from
P +o Pw' ond Guonh’l‘j consumecd bj Nz decrecses Grom
Qd to Ad' 3iuimj Phem less units From which o G

A SMrPIMS and the diffecence between Prhe price they
Orée wﬂlinﬂ t poy and the price H\ﬂﬁ ac%ua'lj pey

decrecses.

( Question One (b) continues on page 4 » )
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New Zealand producers (exporters)

Producer surplus increcses ofter an increase in world
price, Proolucer Surplus Inereases from oarea Pw FE to
Pw' G E ofter. As the price increases from Pw to Pw' and
the iuaniﬂ:j S0IA by NZ~prectcers. Increases from Qs to
Qs'; giving them more unmts From which o galn o surplus
and the difference between the price they cvewill te

receinve at ahd the price Hﬁeﬂ acr[:{AaHS receive
|NCrenses.,

Refer to Graph One and Table Two in your answer to part (¢) below.

(c) Explain the impact of the increase in the world price on the market for a product that
New Zealand exports on allocative efficiency.

There is no loss of allocahve eFFicienc:S- Fre—trereese—r
The Increase In producer surple (P & F Pw) 15 8rw*¢:r
Hhon +he loss oF consumer smrpluts ( Pw' BCPW). Consumer
Surpiuf and pmducer &w’p‘uﬁs are maoximised; ond

there 15 no cie,o\dwe:_SM loss.

Economics 91399, 2024 01926
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QUESTION TWO: Indirect tax

Source: Taunton, E. (2023, May 31) Here's why your beer and wine will soon cost more. Stuff. https:/fiwww.stuff.co.nz/
business/132192469/heres-why-your-beer-and-wine-will-soon-cost-more

There is more than one reason for increasing the tax on alcohol. One of them is to discourage
consumption.

Graph Two shows the market for alcoholic drinks at equilibrium with equilibrium price (P,) and
quantity (Q,).

Graph Two: The market for alcoholic drinks
- impact of an indirect tax
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(a) A$2 per drink indirect tax is imposed on the market for alcoholic drinks.

() Complete Graph Two above by:
. adding and labelling a new curve showing the increase in indirect tax
. identifying and labelling the new equilibrium price (P,), and quantity (Q,)
. identifying and labelling the resulting shortage or surplus at the original price (P,).
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Refer to the relevant figures or labels from Graph Two and the concept of market forces in your
answer to (ii) below.

(i)  Explain how equilibrium would be restored in the market for alcoholic drinks following an
increase in indirect tax.

The suﬂdrj corve shifts to the left with the indirect fox
QﬂlFHnﬁ From S to Sttox . At the original price Pe (36-50
per arink) o shortase. will occur oFaéjmdh'm dinhs as
s (22.Smiliondrinhs) < 0D (52.5 million Arinks).
Consumers will bid up Hoe price in order to not misS
out, as price increases guant 1'5 supplied will increase
as i+ becomes more profitable and quanhly

demarded Will decrease as drinhs become |ess

ofFordable , .:}/M/)H}B SupPHecl will continue to increase
and cluanH ry demanded will continue Yo decrecse
unhl QS = QD. Eq/m!ibr{um will pe. restroed aF Hhe

hiﬁher price P1($8) ond lower czaanﬁfj Q' (Lsmillion
drinkd, Where Qs=QD.

(b) Using figures from Graph Two, calculate the values for the following. Circle increase or
decrease where appropriate.

+  Change in consumer surplus: $ 73, 125, 000million  increase or
«  Change in producer surplus: $ 24,375,000 million  increase or
«  Total tax revenue: $ 90,000,000 million

«  Deadweight loss: $ 7, SO0, COO million

Economics 91399, 2024 01926
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Refer to Graph Two and the calculations in part (b) in your answer to (c) below.
(c)

Explain the impact of the indirect tax of $2 per drink on the following in the market for alcoholic
drinks.

Consumer surplus

Consumer surplus will decrease b3 $732.125milhon, In the
Market for alcohdlic drinkis after an indirect tox is placed
the price will Increese. from Pe (36-50) to PL(38) and the
guanhity purchosed will decrease From Qe (52.5millon
Annks) to Qi (&S million drinks), giving them less wunits
From which +o frqm a surplus and the difference betuween
the price they are willing bo pay and the price theyectually

Po‘ﬂ decreanses:

Producer surplus

FProducer surplus will decrease by $24.375 million . AfFter
an Indirect tox is Placeci onalcohdic drinks the price
proclucers receive decreases from Pe (3650 to PP($6)
and Ha&j the cj,uanh'ffj sdld decreases From Ge(52.5
million drinks) to G LkSmillion driphd), giving them less
wts From which to gam a surplus andl ciecmc\s}ng Hhe
difference behween trew the price they are willing to
SUPF!:j at and the price ‘H"ﬁﬂ acjruaNS receive .

Economics 91399, 2024 01926




Allocative efficiency

There will be. o 1oss of allocahye eFFic}eﬂcg N the morhet
For alcoholic drinks and this can be represented by the
deadwegh) loss crected of $72-Smilla- The tossoff total
Yox revenue collected bj the 3ou_ernrven% (390 millicn)
doesn’'t effset Hne loss of consumer surplus ($73-125
million) and the loss of produce r sarplus §24-- 375 million)
and the differernce be}ﬂﬁ the DWL (37-S pullion).

(onsumer ond P:z)clucer §urFIuS€5 are No nger
moximised .

Economics 91399, 2024 01926
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QUESTION THREE: Maximum price control and elasticity

To help ease the impact of the cost of living crisis, the Government could impose a maximum price on
some grocery items.

Graph Three shows a maximum price control on an item with an inelastic demand.

Graph Four shows a maximum price control on an item with an elastic demand.
Graph Three: Inelastic Graph Four: Elastic

Price

($)

Price

(8)

S
Pe Pe ' .
Pmax : . Pmax Pmax , E
R - il T i
" Vo D | ; i
Qs QeQd Qs; Qe Qd,
Quantity Quantity

(a) (i) Complete Table Three by using the numbers in Graph Three and Graph Four to identify
the surpluses and deadweight loss.

Table Three
Graph Three | Graph Four

(inelastic) (elastic)
Consumer surplus before maximum price control | | 72 6,7
Consumer surplus after maximum price control 13 6,8
Producer surplus before maximum price control | 3 ), 5 8,9,l10
Producer surplus after maximum price control s 10
Deadweight loss (if any) 2 L 7.9

Economics 91399, 2024 01926
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(i)  Define price elasticity of demand and explain one reason why an item might be elastic.
Price elasticity of demand is the responsivness of
quantity demanded for o good or service in
relation to o change in price.

A reasen an rtem MEgH' be elashc 1S that there may
be many substitute options available in place of
Hat item n'iakiv3 it non essential.
(b) -~ Compare and contrast the impact the maximum price control might have on consumers,
producers, and allocative efficiency. Refer to Graph Three and Graph Four in your answer.
On Groph Three consumer surplusoec ) nareos@ovefggﬁxc;hc
altheugh .:Lumh'mlg decreases from Qe to Qs E)W;"’f) them less
units Eom which h;@ah aswplus, the gain From the price de-
Cfﬂ'mSﬁ.’B Fom Pe to Pmax }Sﬁf‘ec\}er- So the differerce
betiveen the price consumers ace MHirB to poy and the prce
ﬁ\ej mchm”a do m%if:i?. On Srap)-n fmr consUme r
surplus also increases’overall. The agin in serplus From Hhe
price dec:rcasf'na Fom Pe to Poox (areed) is areater ton
the loss of surplus From the pree guanh{(j d&reas_f‘rﬁ From
e to Qsi (area?). & i'uinﬁ them less units From wiuch to AL
a sarplus ond the diFference between the price Hhat
consumers are willirg Yo pey and the pnce they achnally poy
Increases. Grroph Three has o greater increese In Consumer
sur,olus.

Producer surplus decreases, on Groph Three Produc_&"

Surpls decrcases by arees 3, k. As the price decreases
Foms Pe to Prax and the i(,mn‘h fy Sold decreases G
Qe te Rs, giw'rg Yhem less wny is Erom hhich te 8&:}1 A
surplus and the differerce behiveen the price %h:y arc.

( Answer space continues on page 12 » )
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willing to reccive ak and the price they actually receive
Increcses . On Gragh Four producer curplus also decrecses,
1t decrease s 133 arees 8,4. As price decreoses from Pe to
Pmox  and iﬁanﬂg sold decrecses from Qe to Qs 3;u;n5
them less wnibs fron which to qain & surplus and the
difference betiecn Hﬁe:j -low'ce. H"‘f‘j are will to receive cnd Hhe
price H‘uﬁv &%uaflj e INCrenses-

Bothh &ra-Ph Three and Four wvill have o less of allocat ve
6#}&:'@56 r‘&f)’t’.jeﬂ} EB H@d@«db@l@m" lass.

Groph Theee hos o deodwejgw loss of orecs 2.4, 'H\egain

N consumer surplus doesn’t offset the less of preducer surplns
andl the total swrpluses are ne longer maoximiSed .

bereph Four has o dead weigh! loss of arees 2,4, the gain

in Consumer swiplus doesn’} offlet the lossof producer
Surplus ancl e tokl surplues aceno longer Mo PiSed

The deadWei@hJ loss on greph Three |5 grecder than the
clemc:lwdah}' loss on greph Four. due fo He item in Greph
Three be}nj inelashc.
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Q Grade Marker commentary
score
For PS and CS the candidate referred to the change and two reasons for the
One E7 change. They have integrated the definition and graph / table references into
each answer.
The candidate correctly drew the graph with accurate labels. They used the
references to the graph data throughout the question correctly.
For part (a) (ii) they mentioned all five key points as well as answering it in the
Two E8 context of the question.
The calculations are correct and used correctly in the CS, PS, and AE
responses. The candidate demonstrated understanding of the offset idea for
AE and clearly described it.
This candidate defined price elasticity of demand and gave one characteristic
of an elastic good.
Three M6 For part (b) they clearly described the offset for CS and reasons for the

decrease in PS. To achieve an Excellence grade, the candidate could have
provided more detail in the AE response.






